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[HW22] Present-day vs. 2050 (SCREAMv0):
(CTRL) PGW-HW22.20241104.CA3km-UV6h-s20220901-O4-SCREAMv0

(TEST) PGW-HW22.20241104.CA3km-PGW2050-ICsnew-s20220901-O4-SCREAMv0 

CTRL TEST TEST - CTRL
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[HW22] Present-day vs. 2050 (EAMv2):
(CTRL) PGW-HW22.20241122.CA3km-UV6h-s20220901-O4-EAMv2fire

(TEST) PGW-HW22.20241122.CA3km-PGW2050-ICsnew-s20220901-O4-EAMv2fire 

CTRL TEST TEST - CTRL
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09-0109-0509-0909-1309-1709-2109-2509-2910-01
Time

0

50

100

So
la

r C
F 

(%
)

bus_agglatlon:
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[HW22] Urban-CTRL vs. Urban-1km (SCREAMv0):
(CTRL) PGW-HW22.20241104.CA3km-UV6h-s20220901-O4-SCREAMv0

(TEST) PGW-HW22.20241206.CA3km-UV6h-s20220901-O4-SCREAMv0-urban1km-CA 

CTRL TEST TEST - CTRL
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[HW22] Urban-CTRL vs. Urban-1km (EAMv2):
(CTRL) PGW-HW22.20241122.CA3km-UV6h-s20220901-O4-EAMv2fire

(TEST) PGW-HW22.20250506.CA3km-UV6h-s20220901-O4-EAMv2fire-urban1km-CA 

CTRL TEST TEST - CTRL
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[TC23] Present-day vs. 2050 (SCREAMv0):
(CTRL) PGW-TC23.20250625.EPCAPE3km-UV6h-s20230819-O5-SCREAMv0

(TEST) PGW-TC23.20250625.EPCAPE3km-PGW2050-s20230819-O5-SCREAMv0 

CTRL TEST TEST - CTRL
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bus_agglatlon:
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[Dixie21] nofire vs. fire (EAMv2 UVnudge):
(CTRL) PGW-Dixie21.20250418.CA3km-UV50hU6hL-nofire-s20210808-O41-EAMv2fire
(TEST) PGW-Dixie21.20250418.CA3km-UV50hU6hL-fire-s20210808-O41-EAMv2fire 

CTRL TEST TEST - CTRL
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bus_agglatlon:
7889x8__ (451 MW) mean=-0.0%Grid_Point 8: 36354:
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[Dixie21] Present-day vs. 2050 (EAMv2fire UVnudge):
(CTRL) PGW-Dixie21.20250418.CA3km-UV50hU6hL-fire-s20210808-O41-EAMv2fire
(TEST) PGW-Dixie21.20250418.CA3km-PGW2050-fire-s20210808-O41-EAMv2fire 

CTRL TEST TEST - CTRL
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[Creek20] CTRL vs. cir1week (EAMv2fire):
(CTRL) PGW-Creek20.20250418.CA3km-UV50hU6hL-fire-s20200905-O41-EAMv2fire

(TEST) PGW-Creek20.20250418.CA3km-cir1wee-fire-s20200905-O41-EAMv2fire 

CTRL TEST TEST - CTRL
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116x8__ (456 MW) mean=-0.1%Grid_Point 7: 47118:
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bus_agglatlon:
7889x8__ (451 MW) mean=0.1%Grid_Point 8: 36354:
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[Dixie21] nofire vs. fire (EAMv2 freerun):
(CTRL) PGW-Dixie21.20250418.CA3km-freerun-nofire-s20210808-O41-EAMv2fire
(TEST) PGW-Dixie21.20250418.CA3km-freerun-fire-s20210808-O41-EAMv2fire 

CTRL TEST TEST - CTRL
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bus_agglatlon:
7889x8__ (451 MW) mean=-0.3%Grid_Point 8: 36354:
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[Dixie21] Present-day vs. 2050 (EAMv2fire freerun):
(CTRL) PGW-Dixie21.20250418.CA3km-freerun-fire-s20210808-O41-EAMv2fire

(TEST) PGW-Dixie21.20250418.CA3km-PGW2050freerun-fire-s20210808-O41-EAMv2fire 

CTRL TEST TEST - CTRL


